Phép cdng 2 chir s6 (Cong 3 s0)

Tén:
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Ngay thang:

30
94
+71

92
/79
+44

99
38
+43

42
16
+22

88
48
+38

Piém:

48
22
+89

67
28
+99

63
43
+79

68
70
+45

57
48
11
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x> ] 40 €O it s6 (C6 5
f % @ = Phép cong 2 chir s6 (Cong 3 sb)

Tén: Ngay thang: Piém:____
39 /79 30 30 48
42 62 48 94 22

+30 +52 +33 +71 +89
161 193 111 195 159
/3 55 90 92 67/
48 62 36 /79 28
¥77 470 +87  +44  +99
198 187 263 215 194
11 44 74 99 63
/79 /5 10 38 43
+30 +57 +97 +43 +79
120 176 181 180 185
52 25 68 42 68
63 31 22 16 70
+31 +76 +35 +22 +45
151 182 125 80 183
39 36 69 38 57
65 96 53 48 48
+45 +78 +42 +38 +11

199 260 164 174 116
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